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OPICAL MULTIPLE CHOICE QUESTIONS

Electric Curren
(hH In metals, current is pr oduced only due to the flow of

(a) Protons (b) Electrons (¢) Free electrons (d) Neutrons
(2) In electrolyte, current is produced due to the flow of
(1) Positive charge . (b) Negative charges
(v) Both positive and negative charges (d) None of these
(3) I'he rate of flow of electric charge through any cross-sectional area is td”ed
(a) Electrostatics (b) Electric current  (¢)-e.m.f (d) Voltage
4) The SI unit of electric current is . '
() Volt ~(b) Farad .~ (c¢) Capacitance ~(d) Ampere
(%) T'he equivalent current of positive chanoes which flows through a conductor is known as
() Electronic current (b). Conventional current (¢) Electrostatic  ~ (d) Ampere
(6) The current due to negative charges and an equwalent current due to positive
charges always flow in the ; _
(1) Opposite direction (b) Same direction
. (¢) Perpendicular to cach other - (d) None of these :
(M In clectricity. we assume that clectric current is always due to the flow of
() Newative charges _ | (b):Neutralparticles
} Posiive charges — (d) Bothrnegative and positive thdl ges
i) l he conventional cuirent of positive charges flows from.a pomt of

(.7 Fhgter potential 1o a point of lower potential — (b) Lower potential 1o a point of higher polu]lm»
tor ] one e potential to a point of lower poteniial ~ (d) Higher potential to a point ol higher potential
19) The curirent constituted by negative charges flows from a point of
(1 Higher potential to a point of a lower potential '
~(b) Lower potential 1o a point of higher potential
() I ower potential to a point of lower potential
() Fligher potential to a point of higher potential
(1) When we connect @ battery across a conductor, the energy is prov ided to lllL‘
charges in the conductor by the : :
i (a) Magneiic field produced in the conductor
(h) Llectromagnetic tield produced in the wnductm
(¢) Electric field produced in the conductor
(d) None of the above -
(11) Energyis ploduced to transfer the electrons from positive terminal of the battery to
the negative terminal by the
(a) Elcetrical process .(b) Chemical process (c¢) Thermdl pmu» (d) Magnetic process
(12)  The current through a metallic conductor is due to the motion of '

(a) Protons (b) Neutrons (¢) Electrons . o) Fiee elevtrons
(13) In liquids and gases, the curr ent is due to the motion of
(a) Negative charges ~ (b) Positive ¢charges
(¢) Both negative and positive charges (d) Neutral particles
(14)  Free electrons are _
(1 Tightly bound” "~ (b) Fixed (¢) Loosely bound (d) Tightly fixed
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The direction of conventional current flowing in a circuit is

(a) from negative to positive in the external circuit and from posmvc to negatlve Wlthln
the source of potential difference (battery)

(b) from positive to negatlve in the extemal cxrcuxt and from negative to posmve within
the source of P.D. '

(c) From positive to negative throughout the circuit.

(d) From negative to positive throughout the circuit. ;

The direction of the electronic current in the closed clrcult is

(a) along the flow of electrons '

(b) opposite to the flow of electrons :

(¢)from positive to negative in the external 01rcu1t

(d) along the direction of positive charges.

If a charge ‘Q’ flows through any cross- -section of the conductor in time ‘t’ second '

the current ‘I’ is given by -

a)l=Qt - (b)1=0Qnt (c)l=t/Q'___‘ _ (d)l':QZ/t;
One coulomb per second is equal to Ry R
(a) One volt (b) One Ampere (¢) One watt ~ (d) One Ohm
Which of the following represents an electric current" - ' -
(1) Erg ' (b) Cs' L (e)d 8! ~ (d)Dyne S

If 1 ampere current flows through 2m Iong conductor, the charge flow through this .
in Thour will be

(@)3600C . (B)7200C ied (d) 2C
Batteries convert ‘ o _ :
(1) electrical energy into heat energy (b) electrical energy into chemical energy

(¢) chemical energy into electrical energy  (d) heat energy into chem:cal energy

The electronic current is due to the flow of .
(a) negative charge  (b) positive charge  (¢) both (a) and (b)  (d) none of the above
The conventional current Is due to the flow of :

(a) negative charge carriers “«  (b) neutral charge
(¢) positive charge carriers 7 (d) both negative and positive charges carricrs. .

Potenfional Difference
E.VMLE
The energy required to move a charge from one point to another in the circult is called

(a) e.m.f (b) Potential difference(c) Resistance (d) Volt
Volt Is a unit of ,

(a) Potential difference (b) e.m.f

(¢) Potential difference and e.m.f. ' (d) None of these

The energy supplied In driving one coulomb of charge round‘ (] complete clreult In
which the cell Is connected s called

(n)e.m.f - (b) Potential difference (¢) Resistance _ (d) Volt

The Instrument with which we can detect the presence of current In a clrcuit Is knows as
(n) Voltmeter (b) Ammeter (¢) Galvanometer (d) Ohm meter

In order to detect the current, galvanometer Is connected ' |

(u) In parallel ~(b) In series

(c) May be parallel or in series () Any where In the cireuit
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(29)  If the needle of galvanomete‘r shows some de'ﬂectio,n, it would indicate the

(a) Presence of current  © . (b) Absence of current
(¢) A large current ‘ (d) None of these
(30) A galvanometer is a very '
~(a) Large instrument (b) Small instrument
(¢) Insensitive instrument - (d) Sensitive instrument

(31) A resistance which is connected with the galvanometer in order to convert it into
ammeter should have

(a) High resistance ‘ " (b) Very high resistance
(c) Low resistance - (d) Very low resistance
(32) The resistance of an ammeter should be S ) : '
(a) Height (b) Very hlgh () Low & (d) Very low -
(33) In order to measure the current in a circuit, ammeter should be connected
(a) Parallel 10 battery “(b) In series in the circuit
(¢) May be pamllcl or in scries 4 (d) None of these

(34) ~ When ammeter is connccted in the circuit, the positive terminal of .unmcm shotid
be connected with the

(a) Negative terininal of the battery * (h) Positive terminal ol fhe h.men\ .
- (;) Any terivinal ot the battery -~ (d) None of these
(35)  The potential difference can be directly measured by the instrument known -
() Ammeter - (b)Potentiommeter _(¢) Voltmeter - (d) Ohm mui

(36) The series resistance which is connected with galvanometer to convert ir into
voltmeter usually has value in

(a) Ohms (b) qcvual hundred ohms 4
(¢) Several thousand ohms -} (d) Hundred thousand olnm . ®
(37)  Voltmeter is always cunnecred in a circuit in
(a) Series g (b) Parallel
(¢) May be in series or pal.lllel : (d) None of these
(38) A good voltmeter is that which draws '

(a) No current (b) Small current ) Lurge currént () Very large cutrent
Ohm’s Law .
V-1 Characteristics of Ohmic and Non ("Illllt C mulmlms

(39) The relation V = IR represents

(a) Ampere law : (b) Coulomb's law
(¢) Faraday's law o () Ohm's law
(40) Ohm’s law is npplicublo to _ : : '
(a) Liquids only ' (b) Gases-only
(¢) Liquid conductors only (d) Metallic conductors only -
(41)  Ohm I3 the unitof
(a) Current (b) Capacitance (¢) Electrie intensity (O Resistanee
(42) Ohm Is defined as b2
(a1 Vol Coulomb or V(! (1) Volt/Ampere or \'\ '
(¢) Ampere/Voltor CV d A () Ampere/Voltor AV

(43) The resistance of 0 conductor through which a current of one nmpere is lowing
' when the potential difference across Its ends Is one volty Iy ealled
() One voll (h) One coulomb (¢) One Ohm (Y O nnpere
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(44)  Thermistor is

(@) A heat sensitive resistor ’ (b) potential divider
, (¢) constant resistor " (d) An ordinary resistor
(45)  The graphical representation of Ohm’s law is 4
(a) Hyperbola - (b) Ellipse (c) Parabola (d) Straight line
(46)  The value of current passing through a conductor is directly proportional to the
(a) Resistance _(b) Capacitance (c) Potential difference(d) None of these
(47)  The property of a substance which opposes the flow of current through it is called
(a) Conductivity (b) Capacitance - (c) Resistance . (d) Conduction

(48)  If a potential of 220V is applied across a conductor and a current of 2A fln-
through it. What would be the resistance of the conductor?

() 2109 b) 440Q . (c) 880QQ. (d) 110 ohin

Specific Resistance (Resistivity) et . b
and 14.8 Conductors and Insulators - :
(49)  The resistance of a meter cube of the substance is called

(@) conductivity (b) permittivity ~(c) resistivity - (d) susceptibility
(30) At a certain temperature, the resistance of a wire is directly proportional to its
(a) Length (b) Area of cross-section (¢) Ghape - (d) Colour
(51)  Ata certain temperature, the resistance of a wire is inversely proporlmnal to its
. “(a) Length - (b) Arca of cross-section(c¢) Temperature (d) Colour
(52) If weincrease the length of a wire to four times of lts ongmal length, what will Ie it
- resistance? : : -
(a) The same (h) Doubled (n.) Four times (d) l"ight umes

'(53)  If we increase the cross-sectional area of the wire to double of its original avca. jr-
resistance will become .
(a) The same ~ (b)Halved -~ (L) Om tourth . (d) Doubled
(54) If L is the length and A is the cross- sectlondl area of a wnre, then its resistancc is
- gives by the relation : - o
I L I 4 ' - A ‘ : i

@ R= .= (b) R = e (C‘_)R Y > DI
(55) The SI unit of specific resistanceis. =~ L 4

(a) Q—m . b Q-m T O Q-m (d)-C =i =
(56) If we increase the temperature of a conductor, its resistance will

(a) Increase (b) Decrease (¢) Remaxm the same (d' None of these
(37) ~ The resistance ol a conductor does not depend.on its

(a) Length (b) Cross sectional area (¢) Resistivity (d) Mass
(58)  When the temperature of a conductor is raised, its resistance

{a) Always decrcases -(b) Always increases

(¢ ) Remains the same (d) First increases and then dutl&,abL

~ Combination of Resistor:
(39) The resistances are connected end to end and provide only onc p: |th for current m

ca) Parallel cireuit : (b) Series circunt

. ) Both paialler and scries cireuit (d) None ol these

(60)  The potential drop across each of resistors will be same in
(a) Parallel circuit (b) Series circuit

(¢) Both pavallel and series cireit (d) None of these
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(61)  In series circuit, the magnitude of current that flows through each resistor is

(a) Very small (b) Very large (c) Same  (d) Different
(62)  In parallel circuit, the magnitude of current that flows through each resistor will be
- (a) Very small (b) Very large - (c) Same (d) Different
(63)  In series combination of resnstors, the expression of equivalent voltage is given by
@ V=V+V,+V, , (b)V:l+_l_+i*
: ' . . W
(c)l':V L+l+L (d )__-_-_l_ l+ l
R R, R |- | SN A A 4
(64) The equnvalent resistance for series combmatlon of3 reS|stors is given by
I 11 -1 vV Vv ' '
(8) ——=—p—f— | T )—~:——+——+-—
, R. R R, R, 3 R, R R R L
(¢) Re=R +R, +R, ' (d) R, _VR+VR +VR -
(65)  The equiv alent resistance for parallel combm.mon 0f3 resistors is given by
I I : - I 2 4
Q) —=—+—+ — : 2 (b)) —=—+—+—
R. R R. R _ R,  REEENR.
{c) Re = R +R, +R ' (d) R, —VR+VR +VR,
166)  The expression for total current through parallel combm.mon is
fay fs /—/—l ' b) I=1 %l.+ K
(vi 1 = / | (@ 2 892/, - 21,

(67) If th:eg resistances of 60 cach are connected in series combmatwn uh‘n \ull ln
the cqunatent cesiscance?

(i) HLd (b)Y 120 (c)lSQ (d)24Q

2551 W hen resistors are connected in series, the equivalent resistance is equal to
i Sumeoi the reciprocals of the individual resistance '
b Product of the reciprocals of the individual resistances
(¢~ ol the individual resistances
1rrodaet of the individual resistance

(69) It the resistors.are connected in parallel, then

() il current lhlough each is the same »

ib) The total resistance is the.sum of individual resistance

(¢) The voltage across each is the same

(d) The total resistance is the product of mdmdual resistance
(70)  If the resistance of 2 ohm and 4 ohm are connected in parallel the equivalent

resistance will be

(a) 11.0 ohms (b) 1.33 ohms (¢)3.00ohms - (d)5.0 ohms
(71)  Three resistance 5000, 500 and 50 ohms are connected in series across 555 volts
mains. The current flowing through them will be
(a) 1A (b) 100 mA (c) 10 mA (d) 10A
14.10 Electrical Energy and Joule’s Law and
Electric Powe :
(72)  When Q coulomb of charge flows between the two points having potential difference

of V volts then the energy in joules is represented by

% .
(a)u:’g H#=5 - ©@F=r . @W=FS$
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(73) Ifa current | ampere flows through a resistance R in time seconds, then the energy
supplied will be -y

(a) W = IRt (b) W = PRt . (W= IR2 () W=IRt
(74)  The energy supplied W = I*Rt is the mathematical expression for
(a) Ohm’s law (b) Fleming’s law  (c) Faraday’s law ~ (d) Joule’s law

(75)  The amount of energy supplied by current in unit time is known as
(a) Electrical energy (b) Electrical power  (c) Electrical work  (d) Potential difference
(76)  When current I is llowmg through a resistance R the electrical power that generates
heat in the resistance is given by

(a) IR - (bR () PR (AR
(77)  The SI unit of electrical power is |

(a) Watt " (b)Joule (¢) Ampere. - (d) Volt
(78)  One watt is equal to :

(a) Js (b) Js™! (c)J%s. . . (d) QJ I

(79) Heat energy dissipated in a resistor R when connected to a battery of V volts and
current I ampere flowing through it for time t is given by

(a) ’R (IRt (¢) VIt (d) 1%Rt
(80)  How will you calculate power from current (I) and voltage (v) -

(a) power =l/V (b) power=VI  (¢)power = V3 (d) power = VI*
(81) Electrical energy is measured in , L

(a) watt _ (b) horse power - (¢) kilo watt (d) kilowatt hour
(82)  Which one of the following bulbs has least resistance? L

(@) 100 watt (b) 200 watt (¢)'500 watt - (d) 1000 watts

(83) Llutnull energy is commonly consumed in very large quantity and hence a large
unlt of energy is required which is know as

: &) Watt=hour ~ (b) Milli-watt hour  (¢) Killowatt<hour (d) Megawall - hour
- (84) ()nv kilowatt-hour Is equal to :
() 136 M (b) 13.6 kJ (¢) 3.6kl . (d) 3.6 MJ

(85)  We can caleulate the amount of electricity bill by the followiiig formula

watt#time(in hours) ' AR : watt x 1000
(4) x cost of oneunit  (b) — ,
1000 | - time(in hours)

1000 x lnhc.(m_lwuls) » cofl oloR R (o) 1000 x watt xtime (m hours )
Watt , o - » “cost of oneunit
(86) Kilowatt = hour is a unit of o ' ‘
1) Power b) Work - _ (c¢) Energy (d) Current
14,12 Direet Current and Alternating C munl ' -
14.13 Hazards of Elcctricity '
(87)  The current which always flows in one direction Is called
() Alternating current (b) Direct current ~ (c) Statiohary current (d) Multi-directional
(88)  The current which changes Its direction ngnln and ngaln Is cnlled
() Alternating current(b) Direct current”

% cost of oneunit

(¢)

(¢) Multi=directional current ' () Uni - directional eurrent
(89)  T'he time Interval after which the voltage repeats Its value Iq known as

(n) l'requencey (b) Wavelength (¢) Time period " (d) None of these
(90)  The number of cycles completed by current ln one second Is ealled |ts

() Time period (b) Frequency (¢) Wavelength (d) Amplitude

(91)  The frequency of a.c used In our houses s
() 30 cveles / second (b) 50 eyeles/second (¢) 60 eyeles/ second (d) 100evelen/ conand
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Use Of Electricity In Homes

All electrical appliances are connected in parallel to each other between the main
live and neutral wire to get

(a) same current (b) same current and potential difference
(¢)ditterent currents and potential differences (d) same potential differences
Insulated covered wire is called:

(a) Extension (b) Cable (c) Lead (d) None of these
The wire at certain potential is called: v

(a) Live wire (b) Neutral wire (c) Earth wire (d) Ground wire
The wire at zero potential is called: ' v

(a) Live wire (b) Neutral wire (c) Earth wire (d) Ground wire
The wire grounded in the earth is called: | | s
(a) Live wire (b) Neutral wire - (c) Earth wire ~ (d) Ground wire
A small wire connected in series with the live wire is called: ; ' .
(a) Neutral wire (b) Earth wire . (c) Fuse , (d) Circuit breaker
Safety device used in place of fuse is: ' - _ : =,

(a) Socket ~ _ (b) Earth wire (c) Plug \ (d) Circuit breaker
Circuit breaker works on the prmcnple of: o :
(a) Electric current  (b) Joule’s law A0} Flectromagnetlsm (d) None of them
An additional wire used in devices having the metallic bodies is:

(a) Livewire (b) Neutral wire (¢).Earth ere (d) Ground wire

ANSWER KEY
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